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BEANRE SH6EE FESERILBHR)ERZHI4TR)

% # 145 - Totketik E % 2 B & = S
EER{E 18, 363, 838
BHES 18, 363, 838
EAREEET 18, 363, 838
EAREEET 17, 890, 600
REtETE 145, 400
1 EREtETE 1.00 145, 400 145, 400
N
BIM/CIME 7 )LYERK 1,697, 300
2 BIN/CINESGEE & 1.00 145, 400 145, 400
N

3 i ETILIERL 1.00 259, 500 259, 500
4 1y - THEETILERK R—U VIR 21K 1.00 813, 000 813, 000
5 BHBE®ROMS 1.00 479, 400 479, 400

547
EAREEET 13, 829, 600
6 FIF - BAEHEE 1.00 136, 600 136, 600
7 tEEHEERE R—ULTAH 21K 1.00 1,198, 200 1,198, 200
8 BERAEERT 1.00 468, 000 468, 000
0 ABRES £ UZHREOREHORE 14-BD, BO, f, RIK (£27-7) 8.00 353, 800 2,830, 400

= =2
10 BRKEDOMEISEFET 14-BO, @, B, RIKX (&145-3) 4.00 1,790, 400 7,161, 600

=2




BERNRE

THeEETHBER(LEBR)ERFRIF14TR)

% b R - BKHE B 2 B ff % =
11 BEHATORE 14-7Q, O, B, RIX (&15-3) 4.00 434, 200 1, 736, 800
r—2A

12 REER EERI, ZEERERL 5.00 59, 600 298, 000
®

M EHE 1,415, 600

13 ETHE KRS .00 1,415, 600 1,415, 600
=

i - 365, 400

14 & - |E EHEME., ffE1E., ZE1E 3.00 121, 800 365, 400
[

BE 201, 400

15 BE .00 201, 400 201, 400
=

AR 235, 900

16 |MESER .00 235, 900 235, 900
=

BEiERE 473,238

EHARE 173,238

17 E5ARE .00 173,238 173,238
=

AR 300, 000

18 ¥R S .00 300, 000 300, 000




WiER THeEETHBER(LEBR)ERFRIF14TR)

% g Fg - K& Bifg B 2 B ® B W =
ERRA 17,890, 600 + 473,238 18, 363, 838
EEAGE 17,890, 600
EERE 473,238
T DR fi 17,890,600 x 53.85% ( 35% + (1 — 35%) ) 9,634,088
EHRIE 18,363,838 + 9,634,088 27,997, 926
—REERF 27,997,926 x 53.85% ( 35% + (1 — 35%) ) — 4,809 15,072, 074
KBS 27,997,926 + 15,072,074 43,070, 000
HERSELE 43,070,000 x 10.00% 4,307, 000
EBERN 43,070,000 + 4,307,000 47,377, 000
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=1
B F  BRETETE 1RHY
% 7 R - AR R BARE = i & # & B &
EX: T TC D)
A 1.00 64, 800. 00 64, 800
A (A)
A 1.00 57, 000. 00 57,000
A (B)
A 0.50 47, 200. 00 23, 600
& it YEZREN - 1.00K 145, 400. 00 145, 400
&S :2
£ %5 : BIM/CINEEEH B ZE 1RHY
%4 7 R - AR R BARE = i & # # B &
EX: T TC D)
A 1.00 64, 800. 00 64, 800
A (A)
A 1.00 57, 000. 00 57,000
A (B)
A 0.50 47, 200. 00 23, 600
& it YEZREN - 1.00 145, 400. 00 145, 400
&S :3
B F : HHETIVIERL 1HhEL Y
% 7 R - AR R BARE = i & # & B &
EX: T TC D)
A 1.00 64, 800. 00 64, 800
A (A)
A 1.50 57, 000. 00 85, 500
A (B)
A 1.50 47, 200. 00 70, 800
HEm (C)
A 1.00 38, 400. 00 38, 400
& it YEZREN - 1.00H 5 259, 500. 00 259, 500
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THeFETHBERILEMR)IBEAREZI14TX)

EE .4
B HhE - TEETILER KR—1U IR 21K 1HhEL Y
% 7 R - AR R BARE = i & # & B &
A (A)
A 1.00 57, 000. 00 57,000
HEm (C)
A 10. 50 38, 400. 00 403, 200
Hftt &
A 10. 50 33, 600. 00 352, 800
& i YE2E2H - 1. 003 & 813, 000. 00 813, 000
EE =)
&% BHEEROMTS 194 THY
%4 7 R - AR R BARE = i & # # B &
A (A)
A 1.00 57, 000. 00 57,000
HEm (C)
A 4.00 38, 400. 00 153, 600
Hftt &
A 8.00 33, 600. 00 268, 800
& i 28 H - 1.008 47 479, 400. 00 479, 400
ES:6
&% FIA - BAEGRTE 1HhEL Y
% 7 R - AR R BARE = i & # & B &
EX: T TC D)
A 0.50 64, 800. 00 32, 400
A (A)
A 1.00 57, 000. 00 57, 000
A (B)
A 1.00 47, 200. 00 47, 200
& it YE2E:H - 1. 003 & 136, 600. 00 136, 600




KR/ \vr—o

THeFETHBERILEMR)IBEAREZI14TX)

E&S:7
& TEEHBERRT R—U2JEXH 21X 1HhEL Y
% 7 R - AR R B3 = B & # & B &
EX: T TC D)
A 0.50 64, 800. 00 32, 400
A (A)
A 1.00 57, 000. 00 57,000
HEm (C)
A 10. 50 38, 400. 00 403, 200
Hftt &
A 21.00 33, 600. 00 705, 600
& i YE2E2H - 1. 003 & 1, 198, 200. 00 1,198, 200
S :8
2% REASEHET 1HhEL Y
% 7 R - AR R B3 = B & # & B &
EX: T TC D)
A 1.50 64, 800. 00 97, 200
A (A)
A 2.00 57, 000. 00 114, 000
A (B)
A 3.00 47, 200. 00 141, 600
HEm (C)
A 3.00 38, 400. 00 115, 200
& it YEZREN - 1.00H 5 468, 000. 00 468, 000
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=)
B KEBERES L UEHREOREEDBED 14-7D, BEOQ, B, RIRX (£27-3) 15—2%Y
% 7 R - AR R B3 H 2 B & # & B &
EX: T TC D)
A 0.50 64, 800. 00 32, 400
A (A)
A 1.00 57, 000. 00 57,000
A (B)
A 2.50 47, 200. 00 118, 000
HEm (C)
A 2.50 38, 400. 00 96, 000
Hftt &
A 1.50 33, 600. 00 50, 400
& i E2EH - 1.005—R 353, 800. 00 353, 800
H5:10
& BRREOHERERTD 14-8O, BQ, M, RLR (£15-3) 15—2%Y
% 7 R - AR R B3 H 2 B & # & B &
EX: T TC D)
A 3.50 64, 800. 00 226, 800
A (A)
A 6.00 57, 000. 00 342, 000
A (B)
A 12.00 47, 200. 00 566, 400
HEm (C)
A 14.00 38, 400. 00 537, 600
Hftt &
A 3.50 33, 600. 00 117, 600
& i E2EH - 1.005—R 1, 790, 400. 00 1, 790, 400
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SH6FEETHEESFIUBHR)BERFEF(14TX)

&5 11
B BEHETORE 14O, EHQ, B, BIRX (F1r-3) 1r—24Y
2 b g - BIRTE By = B ® # " =
FEHRAR (F%ET)
A 1.00 64, 800. 00 64, 800
AR (A)
A 1.00 57,000. 00 57,000
HEm (B)
A 2.50 47, 200. 00 118, 000
AR (C)
A 2.00 38, 400. 00 76, 800
g
A 3.50 33, 600. 00 117, 600
& B YEZEREDN 1,005 —R 434, 200. 00 434, 200
&5 :12
2% REER FEEI1, Z2EH@R4 1MHY
2 b g - BIRTE By = B ® # " =
HEm (B)
A 0.50 47, 200. 00 23, 600
AR (C)
A 0.50 38, 400. 00 19, 200
g
A 0.50 33, 600. 00 16, 800
& B 1EZHERN 1. 008 59, 600. 00 59, 600
&5 :13
& I EORKET 1RXEY
2 b g - BIRTE By = B ® # " =
FEHRAR (F%ET)
A 6. 00 64, 800. 00 388, 800
AR (A)
A 6. 00 57, 000. 00 342,000
HEm (B)
A 8.00 47, 200. 00 371, 600
AR (C)
A 8.00 38, 400. 00 307, 200
& Hi 1E%HeH - 1.00K 1, 415, 600. 00 1,415, 600
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THeFETHBERILEMR)IBEAREZI14TX)

H5: 14
B 1%iE - ;G BATE. PRAI1E. KEI1E HEED)
£ 7 R - KT B = BO(f & | W E B &
F1EBER GEED
A 1.00 64, 800. 00 64, 800
AR (A)
A 1.00 57, 000. 00 57,000
& it 1YEZHER - 1.00[E 121, 800. 00 121, 800
H5 : 15
£ 7 R - BAK~TiE B = BOf & | W E B &
F1EBER GEED
A 1.50 64, 800. 00 97, 200
AR (A)
A 1.00 57, 000. 00 57,000
A (B)
A 1.00 47, 200. 00 47, 200
& it 1YEZHEH - 1.00K 201, 400. 00 201, 400
H5: 16
B MEEERK 14y
£ 7 R - KT B = BO(f & | W E B &
F1EBER GEED
A 1.00 64, 800. 00 64, 800
AR (A)
A 1.50 57, 000. 00 85, 500
AR (B)
A 1.00 47, 200. 00 47, 200
HAf (C)
A 1.00 38, 400. 00 38, 400
& it 1YE%HEH - 1.00K 235, 900. 00 235, 900
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THeFETHBERILEMR)IBEAREZI14TX)

&H5 17
2% EHARE 14y
2 Lo R - KT B = B M € &8 W E w %
EHARE
= 1.00 173, 238. 00 173, 238
& it 1YEZHEH - 1.00K 173, 238. 00 173, 238
H5:18
2 EBHRSR 14y
2 Lo R - BAK~TiE B = B M € &8 W E i %
(BRRRE
= 1.00 300, 000. 00 300, 000
& it 1YEZHEH - 1.00K 300, 000. 00 300, 000




